§11.4 The Comparison Tests
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(% % % essentially positive or negative series.)

® \What:
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(). a,>=b, and ) a, converges = » b, converges.

(ii). a,>b, and ) b, diverges = )  a, diverges.
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(i). IimZ—”:c>0()§o ° i B AR )
= Both ) a, and ) b, converge or diverge.
(ii). I|m— O(an 8 3] 0 e & v fip-)

If > b, converges= > a, converges.
If > a, diverges= > b, diverges.
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Example 1 :
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If > a, converges, where a, >0, isittruethat » sina, isalso

convergent?
Solution :

Yes.
Since a, >0 as n - ow.

sina

And n_y1asn— .

a

n

= Y sina, converges.
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Example 3 :

If > a, > b, areboth convergent series with positive terms, is it true

that > a,b, is also convergent?

Solution :

Yes.
For a, > 0 and b, — 0.

and a,b, approaches O even faster than a,(orb,).

= > a,b, converges.

3 EARSET AR AR L G T o <y



